Reg. No. 01/C-4/Mathura/126/17,02.03.17

Certificate Number: 3975/2021

Issued Date: 17-06-2021



# E-Waste Recycless India

Government Authorized ISO 9001:2015 & 14001:2015/OHSAS 18001:2007

### CERTIFICATE OF DESTRUCTION

### Dear Associate to our Green Earth program

This is to certify that e-waste received from Atmiya University

Address: "Yogidham Gurukul", Kalawad Road, Rajkot - 360005, Gujarat

has been disposed off in an environment friendly manner.

Description: **E-Waste** 

Weight: 498 Kg MRN/EWRI No: 191/7029, Dated: 23-04-2021

We thank you for your efforts in contributing to a Green Environment.

Authorized Signatory

**EWRI** 



**EWRI** 













FACILITY: E-50 UPSIDC, KOSI KOTAWAN, DISTT.MATHURA - 281403 (U.P) Toll Free:-1800-102-5679 / Custome Care:-0114000-0000

ewaste@ewri.in

Reg. No. 01/C-4/Mathura/126/17,02.03.17

Certificate Number: 3441/2020

Issued Date: **09-10-2020** 



# E-Waste Recycless India

Government Authorized ISO 9001: 2015 & 14001: 2015/ OHSAS 18001: 2007

## CERTIFICATE OF DESTRUCTION

Dear Associate to our Green Earth program

This is to certify that e-waste received from **Atmiya University** 

Address: "Yogidham Gurukul", Kalawad Road, Rajkot - 360005, Gujarat

has been disposed off in an environment friendly manner.

Description: **E-Waste** 

Weight: 1955 Kg MRN/EWRI No: 085/4227, Dated - 22.09.2020

We thank you for your efforts in contributing to a Green Environment.

Authorized Signatory

**EWRI** 



Works Manager **EWRI** 











FACILITY: E-50 UPSIDC, KOSI KOTAWAN, DISTT.MATHURA - 281403 (U.P) Toll Free:-1800-102-5679 / Customer Care:-0/1:4000-0000

ewaste@ewri.in



## E-Waste Recycless India™

### **QUOTATION**

Ref.No:A-1217/20-21/PS

To,

Date: 12/02/2021

Mr. Niraj V Bhadresha Atmiya University

Dear Sir,

As per your requirement, we are pleased to submit our commercial proposal and look forward to strengthen our relationship by providing latest and cost effective solution for disposal of Assets **Rajkot Branch** location as per Annexure 'A'.

SR.NO.	DESCRIPTION	QUANTITY	AMOUNT IN RUPEES
1	E-Waste	1 Lot	Rs. 16,943/- for the lot

Value in Words - Sixteen Thousand Nine Hundred Forty Three Only

#### **Terms & Conditions**

1	Prices are Inclusive of all Taxes	All Inclusive
2	The Quotation Valid for	15 days from the date of quotation
3	GST Invoice to be raised on	E-Waste Recyclers India
		<b>GST No:</b> 07AGZPA3638H1Z4
		Address: A-46, OKHLA INDUSTRIAL AREA, OKHLA, South
		Delhi, Delhi, 110020
4	Customer has to provide	GST Invoice, Delivery Challan, E-Way Bill (if applicable) at the
		time of pickup ( Mandatory)
5	Payments Terms	As per customer request
6	Certificate of Destruction	Within 20 working days
	towards materials lifted if	
	desired.	

Thanks & Regards,

For E-WASTE RECYCLERS INDIA

Name: Prabha Papnoi Mob: 9990398787

E Mail ID: operations@ewri.in

Pajkol \*

Attached: Annexure A



#### **ANNEXURE-A**

	SCRAP LIST(11.02.2021)				
SR.NO	PERIPHERAL NAME	COUNT	Unit Rate	Total Price	
1	сри	42 200		8400	
2	keybord	31	10	310	
3	dvd-rw	16	10	160	
4	motherbord	18	10	180	
5	harddisk	51	25	1275	
6	mouse	49	2	98	
7	smps 47 10		10	470	
8	lcd moniter	25	100	2500	
9	RAM	21	10	210	
10	scanner	1	50	50	
11	РСВ	57	10	570	
12	Projector	19	100	1900	
13	12A cartridge	99	0	0	
14	specker	10	20	200	
15	printer	2	100	200	
16	dvr	1	20	20	
17	flopy drive	8	10	10 80	
18	Projector screen	5	1	5	
19	headphone	63	5	315	
				Rs. 16,943/-	

Pajkol \*



## E-Waste Recycless India

### **QUOTATION**

Ref.No:A-2702/22-23/PS

To,

Date: 01/06/2022

Mr. Niraj V Bhadresha Atmiya University

Dear Sir,

As per your requirement, we are pleased to submit our commercial proposal and look forward to strengthen our relationship by providing latest and cost effective solution for disposal of Assets **Rajkot Branch** location as per Annexure 'A'.

SR.NO.	DESCRIPTION	QUANTITY	AMOUNT IN RUPEES	
1	E-Waste	1 Lot	Rs. 70,716/- for the lot	

Value in Words - Seventy Thousand Seven Hundred Sixteen Only

#### **Terms & Conditions**

1	Prices are Inclusive of all Taxes	All Inclusive
2	The Quotation Valid for	15 days from the date of quotation
3	GST Invoice to be raised on	E-Waste Recyclers India
		<b>GST No:</b> 07AGZPA3638H1Z4
		Address: A-46, OKHLA INDUSTRIAL AREA, OKHLA, South
		Delhi, Delhi, 110020
4	Customer has to provide	GST Invoice, Delivery Challan, E-Way Bill (if applicable) at the
		time of pickup ( Mandatory)
5	Payments Terms	As per customer request
6	Certificate of Destruction	Within 20 working days
	towards materials lifted if	
	desired.	

Thanks & Regards,

For E-WASTE RECYCLERS INDIA

Name: Prabha Papnoi Mob: 9990398787

E Mail ID: operations@ewri.in

Pajkol \*

**Attached:** Annexure A



#### **ANNEXURE-A**

Sr No.	Name	АН	Sub Qnty	Note	Total Qnty	Weight per pcs	Total weight KG
1		150	1		1	44.43	44.43
2		150	1	Water type	1	56.23	56.23
3		120	1		1	36.27	36.27
4		65	35		35	18.46	646.1
5		65	1		1	19.64	19.64
6		65	1		1	21.5	21.5
7		42	4		4	13.38	53.52
8		26	24		24	8.17	196.08
9		18	10		10	5.96	59.6
10		17	1		1	5.57	5.57
11		7.2	50		50	5.53	276.5
12	Battery	5	8		8	0.57	4.56
13			3	Modular with battary	3	27.8	83.4
14			14	Modular with battary	14	16.16	226.24
15	UPS	40 kva	1		1	181.64	181.64
16	UPS	10KVA	5		5	41.63	208.15
							2119.43

Registrar Atmiya University Rajkot

